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REEDHAM
. / Additien and Subtraction \

In year 6 your child should be able to solve addition and
subtraction multi-step problems in context, choosing which

operations to use. ] . o .

Counting and Timez Tables
T ﬁ'“, i i
Your child should be able to count in HTU N g "'. ”E?J
decimals and should already be able ?53 503 e
to recall times fables up fol2 x12. | : ;IE ﬂ .Hnl-':-':'nn:p F:'n;-' ﬂ'ﬂg«ll' 5 puprls |:|Ir=- ?l'.:'n-?g |
\ T* | 226 -/
Year 6 children should use estimation to check their answer to questions.
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Children in year 6 should be able to multiply 4 digit numbers by a two-digit
whole number and divide 4 digit numbers by two-digit numbers using formal
* written methods. - :
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